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12. Stateone condition necessary for total internal reflection to occur.(1mk)

SECTION B955MKS)

- a.State one similarity and one difference between the human eye and the camera.(2mks)

b.Figure 4 shows rays from an distant object as seen by the eye.
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Figure 4
The image is formed in front of the retina.
i What is the name of the defect shown above.(1mk)
ii. State two possible causes of the defect.(2mks)
iii. On the figure 5 show how the defect can be corrected.(2mks)




image6.jpeg
LN

Figure 5
c.Figure 6,shows a graph of 1/v against 1/u obtajned by a student using a
School.
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Figure 6
Use the graph for find the focal length of the Lens used.(3mks)

14. a. State the Ohm’s Law(1mk)

b.Figure 7 shows three resistors of

resistance 6Q 3 and RO res
source. the reading of the voltmete

spectively, connected to adv

ris 0.8 v.
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Figure 7

Determine .
L The value of R :(3mks)
ii. The effective resistance of circuit.(2mks)

c.A cell supplies a current of 0.5A when a 2Q resistor is connected. When the 2Qresistor is
replaced with a SQ resistor, the current of 0.25A flows .Determine the electromotive force
(e.m.f) and the internal resistance of the cell.(4mks)

15. a.(i) State the Lenz’s Law of electromagnet induction.(1mk)

ii)Figure 8 shows a solenoid connected to a sensitive centre zero galvanometer. a bar magnet is
moved in the direction shown and current flows through the galvanometer.
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Name the part labeled X.(Imk)

Figure 8

Figure 9

Using appropriate rules, briefly explain how the generator woks.(4mks)
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c.(i) Sate any two ways in which energy can be lost in a transformer.(2mks)

ii.A transformer steps down voltage from 240V to 6 volts for use by the radio. The primary coil

has 2000 turns. Determine

I.the number of turns in the secondary coil.(2mks)

I1.the current in the primary coil if the radio is is rated 75w.(2mks)

16. A.(i) What do you understand by diffraction?(1mk)

ii)Figure 10 (a) and (b) shows two sets of waves incident on two different gaps. The wavelength

for both is the same.
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Figure 10(b)

Figure 10(a)
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ii.A ray of Ii ght travels from
index of medium one n
A

medium one 1o mediur

M two sa shown in figure 12.The
=1.4 while that of medium

refractive
twoisn, =135,
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’ Figure 12.
Determine
L. The angle © (3mks)

I1.The emergence angle(e) on the face CD.(3mks)

c.Figure 13 shows a graph of real depth against apparent depth of a swimming pool as it is being
filled with water.

Figure 13
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From the graph, determine
i. the refractive index of water.(3mks)

il. The real depth, when the apparent depth is 2.4m.(mks)
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14 10
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SECTION A(25MKS)

1. Figure 1 shows a ray incident on a plane mirror at point O.

0

Figure 1

On the same diagram draw the reflected ray and indicate the angle of reflection.(2mks)

2. Three capacitors of capacitance 2uF, 3uF and 4uF are to be connected together. Draw a circuit
diagram that can give,
a. Maximum capacitance(1mk)

b. Capacitance of 2.22uF(2mks)

Figure 2 shows a set up used to make a simple cell. Use it to answer question 3 and 4.
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Figure 2
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(2mks)
3. Identify

4. The bulb lights immediately on connection and goes off after a short time. Explain one reason
for this observation.(2mks)

5. In testing for the polarity of a magnet with unknown poles, repulsion is considered the surest
way as-compared to attraction. Give a reason for this.(2mks)

6. Figure 3 shows an object O placed in front of a convex mirror. Locate the position of the
image.(3mks) G

Figure 3
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10.

11.

State two ways of increasing the strength of an electromagnet.(2mks)

A boy standing a distance from a vertical wall claps his hands and hears an echo after 0.60
seconds. If the speed of sound in the place is 330m/determine the distance between the wall and
the bot.(3mks)

Tracks transporting petroleum product have a chain hanging downwards .Explain.(1mk)

Arrange the following electromagnetic waves in order of their increasing
frequency.Radiowaves,x-rays,gamma rays,visible light.(1mk)

An electric water heater is rated 1.5Kw and is operated a 240v main supply.Calculate the
resistance of th coil.(3mks)




